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( )Ea=sinf > BITHIFAMAEEBERME?  (A)sin(@+90°)=a (B)cos(@+90°)=a (C)sin(0+180°) = ~a
(D) cos(6+180°) =—a -

( YAABCH » ZA=30°,£C=90° » £ AB=6 > HIAC=7 (A3 (B)2V3 (©O)33 (D)4f3 -

( )AABCH » AB=4,AC =8, /4=60° » HIAABCINEREEAT 2 (A) 1683 (B) 83 (O)l6 (D)8 -

( VBabcBEAABC=EBYE b —(c—al =ca » Bl ZB=7 (A)300° (B)I120° (C)330° (D)60° -

() s R9%G (sin500°,c05 500°) FEHE LSRR (A)— (B) - (O= O -

~ ERREEHE 4 47)
AABCH » FEsind=— - LBC=6 » ASMEBREEA :
SRS AEEIE © (1) cos330°= ' ) sin(—%)=
3 P(1,—3) BB A 300° 48 19 —5h > B (1)sin300° = » (2)cos300° =
0 mar, 25m080 5 plang-
sind—cosd

F£2c0s?@—5c0s0+2=0 > H()<«9<—72Z » Bllsin@ =

XTW@%m@%mncmm’ﬁ%%_*__p@w:xmﬂgwqﬂ’ﬁ%%____o
AABCH » a=7,b=5,c=3, KIL=AVNEARNAER

=5 0 B, %sin@-—cos9=% » Hij(1)sin@cos @ = o (2)tan 6 + tan@z

cos? 20°+ cos® 40° + cos” 50° + cos® 70° =

25 0° < 0<360° ’E_cosé?:——\zz_i, Bk o=
f(x)=-3sin(2x—7)+5 » & [ (x)FIRARER/M f(x) R ME R m o K (M, m)=

AABC |+ £4=120°, AB=8 + AC=10, LAMINFEF5435BC RD » KER AD =
AABC th » Bille=2,a=~2,2C=135° > I

HzL4=__ (2 4LB=__ ¢
a =cos122°, b =cos144°, ¢ = cos166° LLEZ =& K/

2 0 By R ﬁm@:—% ) Eﬂsin(ﬂ+9)cos(%+6’)—sin(—72£+49)cos(7r—9):
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